sTEELBODY

UTILITY BENCH
STB-10105

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.

Assembly Manual
220627







=

- m O

— (A\ H
i 8
(36)x3 @7)=8

o 10 20 30 40 50 60 70 80 90 100 110

O©IMPEX INC. WWwWw.marcypro.com



g”

7

37

70

60

| II‘IIII'II[I’IIIIl

40 50
o7

30

| I|’IIII|IIII‘IIII|

1

20

10

T ‘ T ‘ UUUULY ‘ Uyl I'I'I"'I T I'I"'I'I T "|'|'|'| T ‘ HUULLL ‘ HULuL

IIII|III|’III[|

0

Bx @ @

O©IMPEX INC. WWw.marcypro.com



CD% "

%6

©

x2 M10x 2 %4"

N ([—

@ [

@?) @ x4 M10

WWE ~ x2  M10x4"

WWW.marcypro.com

O©IMPEX INC.



M10x6 5"

x1

@

Www.marcypro.com

O©IMPEX INC.



M10x3 3"

x3

M10

® Od

Www.marcypro.com

O©IMPEX INC.



M12x8 }5"

x1

M12x4"

x1

@xz M12

Www.marcypro.com

O©IMPEX INC.



x4

M8x3/4"

(DS/S "

M8x2 %"

O©IMPEX INC.

WWW.marcypro.com



O©IMPEX INC. WWw.marcypro.com



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
WWW.marcypro.com
support@impex-fitness.com

O©IMPEX INC.

10

Www.marcypro.com



http://www.marcypro.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.
	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

